

starmaxxgroup.com



AMAZING SHAVING EXPERIENCE



ABOUT STARMAXX



Starmaxx Blades & Razors is a Personal care Brand of STARMAXX UK.

Starmaxx blades and razors were launched in early 2023 across the GCC region, the expansion to the global markets has been well received and the products are now embraced by customers across Asia, Africa, Europe, USA and the Middle east & GCC within a short span.

STARMAXX UK LTD is an ISO certified company **(ISO 9001:2015)**. Our Brand is renowned for its quality, design, XXTRA features, making us a recognized name in the Men's grooming industry.

STARMAXX gained popularity among Salon Barbers due to its reliable quality and performance. Customers and professional barbers quickly became loyal to the brand and demanded more variants in Platinum and Stainless Steel, along with different packaging options to suit diverse market needs.

STARMAXX currently offers Premium quality Double-edge, Single-Edge, Pillar packs and

professional Salon Razor manufactured to world-class quality standards and internationally acclaimed designs.

STARMAXX continuously innovates and meets market expectations by introducing new variants. In the near future, the brand plans to introduce new Disposable Razors with a new design further expanding the category.

STARMAXX Razors have unique designs and innovative technology adapted for a safer shave. The Red protective base is an innovative methodology implemented for a healthy shave.

STARMAXX has introduced its Shaving cosmetics like Shaving Creams, Shaving Foams Shaving Gels for Salon & for consumers a herbal fusion of Sandal, Aloevera, Lime & Mint under **XXTRA** Brand.



SHAVING BLADES

PLATINUM BLADES



Platinum Double Edge Blade

5 Blades x 20 Tucks x 100 HC 10,000 Blades/Ctn



Platinum Single Edge Blade

100 Blades x 50 Tucks x 4 Inner Box 20,000 Blades / Ctn





Stainless Double Edge Blade

5 Blades x 20 Tucks x 100 HC 10000 Blades/Ctn



Stainless Double Edge Blade

5 Blades x 20 Tucks x 100 HC 10000 Blades/Ctn



SMP 800

Platinum Double Edge Blade

5 Blades x 20 Tucks x 100 PP 10,000 Blades/Ctn



Platinum Single Edge Blade

100 Blades x 50 Tucks x 4 Inner Box 20,000 Blades /Ctn



Platinum Double Edge Blade

5 Blds x 20 Tucks x 100 HC 10,000 blades/Ctn



Platinum Double Edge Blade

10 Blades x 20 Tucks x 80 PP 16,000 Blades/Ctn



Stainless Double Edge Blade

5 Blades x 20 Tucks x 100 HC 10000 Blades/Ctn



Stainless Double Edge Blade

5 Blades x 20 Tucks x 100 HC 10000 Blades/Ctn



SMS 1000 G

Stainless Double Edge Blade

10 Blades x 20 Tucks x 80 PP 16,000 Blades/Ctn



Stainless Double Edge Blade

5 Blades x 20 Tucks x 100 HC 10000 Blades/Ctn

DISPOSABLE RAZORS





SMR310 RZR NEO 3

Triple Blades with Lubricants Disposable Razor 10 Pcs X 60 Pouches X 2 Inner Box 1200 Razors/Ctn



SMR314

ACE 3

Triple Blades with Lubricants Disposable Razor 14 Pcs X 50 Pouches X 2 Inner Box 1400 Razors/Ctn



SMR205 SUPER 2

Twin Blade Disposable Razor 5 Pcs X 120 Pouches X 2 Inner Box 1200 Razors/Ctn



SMR210 SIGMA 2

Twin Blade with Lubricants Disposable Razor 10 Pcs X 60 Pouches X 2 Inner Box 1200 Razors/Ctn



SMR216 GLO₂

Twin Blades with Lubricants Disposable Razor 16 Pcs X 50 Pouches X 2 Inner Box 1600 Razors/Ctn



SMR110 PRO GUARD 1

Single Blade Disposable Razor 10pcs/Pouch 120 Pouches/ctn 1200 Razors/ctn



SMR110M

PRO GUARD RAZOR

Single Blade Disposable Razor 30 Pcs/Box X 80 Boxes 2400 Razors/Ctn



SMR106 Q

NEW

QUEEN RAZOR

Single Blade Disposable Razor 6 pcs/Packet

SMR300H RZR PRO LUBRA



Triple Blades with Lubricants Disposable Razor 24 Pcs X 18 Cards X 2 Inner Box 864 Razors/Ctn

SMR201H SUPER PRO LUBRA



Twin Blades with Lubricants Disposable Razor 24 Pcs X 18 Cards X 2 Inner Box 864 Razors/Ctn

SMR200H **SUPER PRO**



Twin Blades Disposable Razor 24 Pcs X 18 Cards X 2 Inner Box 864 Razors/Ctn

SHAVING COSMETICS



SHAVING CREAM





Shaving Cream

100ML per pc and 120pcs/ctn





Menthol **Shaving Cream**

100ML per pc and 120pcs/ctn

SHAVING GEL

Sandalwood



Lemon Fresh





100ml 108 pcs/ctn

Aloe Vera



Mint Fresh



SHAVING FOAM & GEL



Classic Menthol **Shaving Foam**

400ml 24 pcs/ctn



Sports Aloe Vera Shaving Foam

400ml 24 pcs/ctn



Crystal Shaving Gel 1000ml & 2000ml 12 pcs/ctn



US | EUROPE | GCC | AFRICA AUSTRALIA | SOUTH AMERICA | INDIA





STARMAXX UK LTD

71-75 Shelton Street, Covent Garden, WC2H 9JQ - UK **Distributed by: AAL JAAFAR Trading LLC**P.O. Box: 2985, Dubai - U.A.E

Mob.: +971 56 965 9898, +971 56 982 9727

Email:info@starmaxxgroup.com | Web: www.starmaxxgroup.com

starmaxxblades